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Addition - missing addend (sums up to 10)

Grade 2 Addition Worksheet

What number should be added to the first number to make the answer?

1)3+_:4
2+ =2
5)2+_:9
N5+ =7
9)4+_:8
2+ =10
1+ =6
¥4+ =7
7+ =10
993+ =8

2 4 +

91 +

6 1 +

8) 4 +

100 3 +

12)1 +

14) 2 +

16) 7 +

18) 1 +

2002 +

5
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Addition - missing addend (sums up to 10)

Grade 2 Addition Worksheet

What number should be added to the first number to make the answer?

1)3+1_:4
92+0=2
5)2+7_:9
N5 +2=7
9)4+4_:8
)2+ 8 =10
191+5=6
94 +3=7
N7 + 3 =10
93 +5=28

2) 4

4) 1

6) 1

8) 4

10) 3

12) 1

14) 2

16) 7

18) 1

20) 2
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